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1. lim
x→0

ln(1 + sin2 x) sin 2x

tanx3
= .

2. lim
x→0

(ax + bx

2

) 1
x = .

3.
(x2 + x− 5

x2 + x− 6

)(n)
=

.

4. �

{
x = t2

y = sin t2
, K

dy

dx
= ,

d2y

dx2
= .

5. �Û¼ê y(x) d yey = ex+1 (½, K dy
∣∣
(0,1)

= .

6. ¼ê f(x) = 3
√

x 3: x0 = 1 ?����VÐª£�.�KF{�¤�

.

7. ­� y =
x2 − x + 1

x + 1
��ÜìC�� .

8. � x → 0 �§(1 + ax2)
1
6 − 1 � cos x− 1��dÃ¡�§K a = .

9.
∫

1√
x2 + 2x + 3

dx= .

10.
∫

xa

xa+1 + 1
dx= (a 6= −1).
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���!!!£6©¤^ /ε−N0½Ây² lim
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4n2 + n + 1
5n(n + 1)

=
4
5
.

nnn!!!£6©¤¦4� lim
n→∞

2n
( 1
n2 + e

+
1

n2 + 2e
+ · · ·+ 1

n2 + ne

)
.

ooo!!!£8©¤éÑ¼ê f(x) =
x2 − x

x2 − 1
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ÊÊÊ!!!£8©¤�¼ê f(x) =


√

2 sinx, x ≤ π
4

ax + b, x > π
4

??��§Á(½~ê a, b.

888!!!£8©¤y²: � x > 0 �§k ln(ex) ≤ 1 +
x

e
.
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ÔÔÔ!!!£8©¤� f(x) k�¼ê
ex

x
, ¦

∫
xf ′(x)dx.

lll!!!£16©¤?Ø¼ê f(x) = −2
3

lnx− 1
6
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